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‘Whichofthe ollowing statements are TRUE?
Select TWO answers

EiminationTool (I

A Every programming problem can be solved.

B Approximate solutions canbe used when 3 problem takes toolong o sove.

- Abeurisicshould oy be used o solve aproblemf anapproximate soluton s
acceptable.

D Heuristcsare abways helpfl,
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“The “Traveling Salesperson Problem” poses this question:

Asalespersonis ivena st o cites and th distances between them. The salsperson hastovist each ity exactlyance and
thenetum o the fist ity What i the shortest possile route the solesperson could take?

Tofind the exact ansier, a computer program would have o create every possibl route, caculate the lengths o all
ofthem, and then find the shortest route. This clearly it efcient when there are many cites the salespersonmust
visit. Alternatively,  computer program could use tisalgorithr:

Lselectacitytostart.
2\Select the losest nvisited city.

3 Repeat step 2 untilall cities have been vsited
4 Retun o st

“This algorithm worit always eturnthe shortest oute, bu the oute treturns can be considered “short enough®”

‘Whatis this algorithm an excample o

Elimination Tool

A Anabstraction

B Aheuristic

€ Anunsolvable problem.

D Anumveasonable problem.
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Suppose you are told that nunis apositveinteger, and you are asked the following question:
15 numa factor of 102In other words,when numis divided by 10,isthere a on-zero remainder?

‘Which of the ollowing statements is most accurate when describing this problem?

Elimination Tool

A Theproblemis decidable problem, since anagorithm can be created toanswer the
uestion witheither “yes" or"no’ for any possble postive integer value of nun.

g Theproblemisa decidable problem, since anagorith can b created o answer the.
auestion witheither "yes" or "no’ for most positive nteger values of nun.

The problem s anundecidable problem,since there are an iniite number o possible
€ valuesfor num and no algorithm can b created to answer the question for allpossible
positive nteger values of nun.

[ Theproblemis anundecidable probem, since no lgorithm can be reated to answer the
question witheither“yes*or"no’ for al possible positve nteger values of nu.
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